Orofit ( Acc Onlq)

DO A movi company was hired fo taKe cla.y F'f‘
toa -fl:srist shop- The florist will pay the
Moving company a & Soo fee, plus & 3 for
every pot that is delivered Safely.
Moving Company must +he €lorist 45
each for any pots broken. 30 P-}s were
broKen, but the flocist was Still able 1o
2'0"‘ the moviv\g Co. @ cheek for 24631,

W many potS were transported?
Formwla 4o use: Profit = ITncome- Expenses
P-1T - E let x= # pots

464,99 = 500 - HO
A

= /OO + 3)< _40
g > o
4339 =500 t+ 3%

- 500 —500

i%f-q =2 [x= /443 pots.




Profit (Acc Only)

@ Bob and Rob own a I\a.mbur store
Called "Two Guys Bur les." They
want o maKe o Proz of & 2500 This
week. Their problem is that they must
Spend ¥ 2.25 per burger for the 'Fvcd

mqreduen'l's and ~H\ musf ?
advertising and 500 to rent tThe Space.

I*f they senl the burgers for 87.25 each,
how many must they scil to maKe ¥2s00!

Formwla: FProfit = Income- Expenses
P L= 8 et x= # burgess

2500 = 225x — 2% - 200- 500
2500 = F25x - 2% - F00

2500= 5 x - 700
100 + 700
3200 =5 X

(%= 640 burgess |




